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Combined Sciences: Physics Homework/Extension Sheet T14.3

1. Convert 45.2 kJ to J.

[ ] A:452000)
[ ] B:45200)
[] c:0.452)

[ ] D:0.000452)

2. A student is investigating the
energy required to boil a kilogram of
water. Another way of saying this is
that they are investigating...

[ ] A:Latent heat of fusion

[ ] B: Latent heat of vaporisation
[ ] C: Specific heat capacity

[ ] D:Energy density

3. What is the unit for specific heat
capacity?

[] A:J/kg°C
|:| B: J/kg

[] C:kg°C/)
[:| D: °C/kg

4. A student investigates the density of a copper block and the
density of a small stone. The student found the volume of
the copper block by multiplying the area of its base by its
height. The small stone does not have straight sides.

Describe how the student could measure the volume of the small stone. You may use a diagram if it helps

your answer.

5. A steel ball has a volume of 3.6 cm® and a mass of 28 g.

Calculate the density of steel in kg/m?3.

density = kg/m3
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